
program fd; 

var  

a,b,c,min,mid,t,r: integer; 

begin  

readln ( a,b,c); 

if a<b then  

       if a<c then min:=a 

           else min:=c 

             else  

             if b<c then min :=b 

                else min:=c; 

if a<b then  

    if a>c then mid :=a  

        else  

         if b<c then mid:=b 

         else mid:=c 

         else  

          if b>c then mid:=b 

               else mid:=c; 

t:= min; 

r:= mid-min; 

writeln (t,' ',r);    

end.   

 

 

 

 

 

 



program ji; 

var  

m,k,n,s,i:integer; 

begin 

readln (n,m,k); 

i:=0;s:=0; 

repeat 

m:=m-k-2; 

i:=i+1; 

until m<k; 

if m>0 then s:=2*i 

       else s:=2*i+m; 

 writeln (s); 

 end. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

program og; 

var 

a:array [1..40] of integer ; 

s,n,m,i,k: integer; 

sr:real; 

begin  

writeln( 'введите кол-во оценок'); 

readln (n); 

writeln ('введите оставшихся уроков'); 

readln (m); 

writeln ('введите оценки'); 

for i:=1 to n do  

read (a[i]); 

s:=0; 

for i:=1 to n do 

s:=s+a[i]; 

k:=0; 

sr:=s/n; 

repeat  

if (sr<4.5)and (k<m) then  

begin  

n:=n+1; 

a[n+1]:=5; 

s:=s+5; 

sr:=s/n; 

k:=k+1; 

end; 

 



until sr>=4.5; 

writeln(k); 

if sr<4.5 then writeln('-1'); 

end. 

 

   

 

 

 

 

 

 

 

 

 










